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Celkové vysledky

29.05.2010 Bechyné
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1 [Pikov 26,44]  1(6524] 1] 83,87 4| 175,55 1 |Pikov 26,44]  1]6524] 1] 8387 4] 6] 1
2 |Stoklasna Lhota 30,88 3[ 65,37 3| 83,54 3] 179,79 2 |Zhof u Tabora 32,58 4] 65,27 2| 83,05 1 7] 2
4 |Zhot u Tabora 32,58 4] 65,27 2| 83,05 1] 180,90 3 |Stoklasna Lhota 30,88 3[ 65,37 3| 83,54 3 9 3
9 |Choustnik 34,21 5[69,01] 6] 88,21 7| 191,43 4 |Nova Ves u Chynova | 46,10  7[67.49] 4] 8312 2| 13| 4
7 [Mutice 30,34 2| 74,76 9 88,00 6] 193,10 5 [Mutice 30,34 2| 74,76 9 88,00 6 171 5
10JNova Ves u Chynova | 46,10 767,49 4| 83,12 2] 196,71 6 |Choustnik 34,21 569,01 6| 88,21 7 18] 6
3 INové Dvory 35,64 6{ 72,07 8| 89,30 8] 197,01 7 JRodna 50,65 8[68,59 5| 86,63 5 18] 7
8 JRodna 50,65 8| 68,59 5[ 86,63 5] 205,87 8 |Noveé Dvory 35,64 6| 72,07 8| 89,30 8 22] 8
5 |Zarybnicna Lhota 71,55  9[76,09] 10[ 89,65] 9| 237,29 9 |Zeled DNF| 10]71,47[ 7] 90,25] 10 27] 9
6 |Zelet DNF| 10| 71,47 7] 90,25 10] 999,00 10|Zarybni¢na Lhota 71,55 9(76,09] 10| 89,65 9 28] 10
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1 |Morave€ u Ml.Vozice | 37,11 3[ 75,90 1] 89,38 11 202,39 1 |Morave¢ u MI.VozZice | 37,11 3[75,90 1] 89,38 1 5] 1
5 JRodna 37,58 4] 85,59 5[ 94,18 3] 217,35 2 INové Dvory 35,41 1] 81,15 3[ 103,16 5 9] 2
3 [Noveé Dvory 3541 181,15 3[103,16] 5] 219,72 3 |Zarybnicna Lhota 52,74 5(7621] 2| 9366/ 2| 9 3
4 [Bechyné 36,26] 2[83,16] 4[101,28] 4] 220,70 4 |Bechyné 36,26] 2[83,16] 4[101.28] 4] 10| 4
2 |Zarybni¢na Lhota 52,74 5[76,21 2| 93,66 2] 222,61 5 JRodna 37,58 4] 85,59 5[ 94,18 3 12 5
6 ISmrkov 113,05 6] 92,06 6] 106,00 6] 311,11 6 |Smrkov 113,05 6] 92,06 6] 106,00 6 18] 6
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